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BT 173 0 4

1018 B EE B E WS E Float - R WA

1022 B EiE BN HE WA Float

1026 2 VY TE N R WA E Float

1030 ERTBRERTYING S K1Y A ) Float

1034 FHNEIE Bos H e WA E Float

1038 i Bon E B W E Float

1042 )\l Bon E & W E Float

1100 B —IlIE % u16 BN 1R XKD

1101 B OMIE 2 u16 Aeo B Y4uT B N E

1102 FEmIE LK ui1e ={E N 0.

1103 B VY IE 2 K u16

1104 B FMIE 2 u16

1105 7NIEIE % u16

1106 B mIE % u16

1107 & \iliE 3 u16

300 5B ADC FRHET 1 532 RS — bR

302 B —1@iE ADC K F 1 0 AR EE | S32 WAL NS HER S

304 5—iHiE ADC FET 2 $32

306 —IlIE ADC IRUET 2 X NiAR e | S32

308 AW IR 2R R a Float e 12 IE — kh

310 FEE RN IR b LR

312 —IEIE M IR R A e 18 B0 & b i N
REHERRE
Y=axx+bx+c

314 2 @I ADC FEHET 1 $32 R RREE — bR 8

316 BB IEIE ADC EHETE 1 X NARE(E | S32

318 %5 iHiE ADC RHET 2 $32

320 B IETE ADC BHEF 2 X NS EAE | S32

322 B IRIEMN ki 2 54 a Float A 28 PR & 1E — ok th

324 BOmIER IR R b &R

326 BN RN R e Y=axx+bx+c

328 25 =iEiE ADC /T 1 532 R PE — bR

330 2 —J@iE ADC K F 1 X AR EE | S32

332 5 =iHiE ADC fET 2 $32

334 ﬁ%‘:ﬁtﬁ. ADC fZHEF 2 X RibREfH | S32

336 B mIE R IR & R a Float e 2 IE —kh

338 FEE RN 2R b LR

340 SIEIER IR R c Y=axx+bx+c

342 25 VUiEE ADC AT 1 $32 R PE — bR

344 FEVYIETE ADC BEHEF 1 X NAREAE | S32

346 g P_Tl‘ 18 ADC BHE 2 $32

348 FEVYIETE ADC BEHEF 2 X NAREAE | S32

350 SVIBIE R — k2 524 a Float A 28 PR & 1E — ok th




4 FES EEREEST O T T
352 SEULEIE R R R b LR

354 S UYIEIE ) R 2R R B c Y=axx+bx+c

356 5 FMIE ADC RHET 1 $32 TR H — i bRE
358 HTIBTE ADC RHAET 1 X SR EfE | S32

360 35 FMIE ADC HET 2 532

362 3 FIEIE ADC R UET 2 X NiAR e | S32

364 B TOEE ) i 2 R 2 a Float LB I
366 HEIE N R 2% b LR

368 SEFEIER IR R A c Y=axx+bx+c

370 H7NEIE ADC KEHET 1 $32 TS — bR
372 H/NIHIE ADC K UET 1 X NAREE | S32

374 ZB/NIEIE ADC fHETF 2 $32

376 H/NIHIE ADC K UET 2 X NbREE | $32

378 SNIBIEM i 2 522 a Float e A5 IE —kh
380 FENIEIE N Rk 25 b LR

382 I NEIE R R 2k 2% c Y=axx+bx+c

384 #-LiEiE ADC KiHET 1 $32 FE RS — bR e
386 LIEIE ADC R HET 1 X NAREE | S32

388 %5 -LiliE ADC FHET 2 $32

390 -LIEIE ADC R HET 2 X NAREE | S32

392 FLIBIER ki 2 524 a Float e e I =
394 LB R 2% b LR

396 F-LIEE R IR R c Y=axx+bx+c

398 %5 )\i#iE ADC FHET 1 $32 TEIRH — i bRE
400 5 )\id@iE ADC R 1 0 Ridr g fE | S32

402 %5 J\IEIE ADC fHETF 2 $32

404 5 )\idE ADC R 2 X bR EfE | S32

406 H)\BIEM X2k 550 a Float Ak 2k M 45 1IE — W ih
408 o) GEIE M 2 R b LR

410 =)\ GEIE R IR R E ¢ Y=axx+bx+c

Heapfras (04 TR
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0 FmiEE R u16
1 ¥ EiEHEEE u16
2 B —EiE el u16
3 2 VY TE R u16
4 B FLETE =R u16
5 7S iEIE HEE u16
6 - TE H A u16
7 )\l iE =Rl u16
8 HE{EA u16 JHIE H E{H S




{,‘itﬁ%%%&%#ﬂ B F A R F WRE A5 3

9 HE(HTH u16 I8 T
50 5 —EiE el Float

52 B mEE R Float

54 B —EiE el Float

56 DY IE R Float

58 B TLImIE Float

60 FH7NmIE e Float

62 SimiE Float

64 )\ JBIE H a1l Float

66 HE(HM Float GIBCIEE =g Pswil
68 HE(HTH Float I8 T
100 F—IHiE )5 45 ADC H 532

110 5 IBIE 546 ADC {H $32

120 B = iHiE )5 45 ADC H 532

130 H V0B IE 546 ADC H $32

140 2 FLIEE )5 45 ADC H 532

150 557N R 46 ADC 1E $32

160 #-timiE i 46 ADC A $32

170 2 )\ilIE i 46 ADC A $32

BT Ut B

PLEE—IEIE 2 IRASHE A :

O £ 1009 FA7asH 5N 10 HEH] 170 BUEH, FEANRUERR;
@ BHUR UG ADC (E A7 2 bkt R

100 F—IEE 4 ADC{H | S32

110 o OmIEJEM ADCH S32

120 B =IEIE R4 ADC | S32

130 SFVYEIE MG ADC . S32

® BMNEY 1, EEUCHE L ADCE, S5 ANZA(F8 300 1, TEZ 748 302 H5 NE R
UEAEIEN

@ JRNEY) 2, EEUCH E L ADCE, S ANZAF8 304 1, TEZA748 306 15 NE T
IHUE

® brEsER, R BRI,
e REAFE RS ER, Y1 EER/DN, B2 FESERNTHRSERN 1/2
3 2/3 2 A,




	校准说明

